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Attempt All questions.
The Marks for each question are indicated
at the end of the question.
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In an economy at full employment, show that at the
rate of interest at which the supply of loanable funds
equals the demand for loanable funds, the demand for

goods and services will equal their supply. 5

Show that the demand for money as a medium of exchange
depends on the level of income.and the rate of interest,

as per Baumol-Tobin model of cash management. 10
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What would happen in an economy at full employment

if the level of investment were to increase ? 5

“The fiexible accelerator model explains how the rate of
investment per time period closes the gap between the
desired and the actual capital’ stock.” Explain. Why is

this gap not closed instantaneously ? 10
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The following equations have been estimated for an economy :
C=5+108 Y. where C stands for consumption and Y, for

disposable income.

It

T = 0.25Y, where T stands for Tax and Y for Income

G

il

315, where G stands for Government expenditure

[ = 280 - 5i, where 1 stands for Investment and i for

interest

L = 04Y - 5i, where L stands for the demand for real

balances

M = 800. where M stands for nominal money supply
P = 2, where P stands for the price level

Find :

) the level of investment, and

(i)  if the government expenditure were to increase by 10
and at the same time nominal momey supply were to
increase by 20, what would be the changes in the level

of Investment and the level of income ? 5. 10
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An economy is described by the following equations :

€ =10+ 075 Y,, where C stands for consumption and Y,

for disposable income

T

0

0.2 Y, where T stands for Tax and Y for income

it

G = 230, where G stands for Govermment expenditure

I = 280 — 6/, where | stands for Investment and i for interest
L = 0.4Y - 4/, where L stands for the demand for real balances
M = 800, where M stands for nominal money supply

P = 2, where P stands for the price level

Calculate :

(%  the budget surplus and

(i) if government spending were to increase by 10, what
would be the change in the rate of interest, the level

of investment and the level of income ? 5433
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How will an adverse oil shock affect output, employment
and the price level in the short-run and real wages in

the long-run ? 10

Show how the natural (steady state) rate of unemployment

is related to the rates of job finding and job separation. 5
yioRe A o fFE YER seu-wremafy
frld, R SR FW W iR -ty
T orfow wogdt # wwifes w2
Wi i A # awafaw (Fer sree)
R fF R w6 Tw w3 S wE gemew
F T A HEg ¥
Or
(areram)

Use the aggreg:;te supply curve :

P=P [1+A(Y-Y%)

and the aggregate demand curve to find out the effects
of an increase in money supply in the short-run and -
the long-run. In this question, P stands for the price

ievel and Y for the level of real output. 10
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{¥) What is wage rigidity and how does it cause

unemployment ¢ 5
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Use the expectations augmented aggregate supply curve (dynamic

aggregate supply curve) :
M=n,+A(Y-Y")
and the dynamic ageregate demand curve :

M=m-1/®(Y-Y_D+of
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to show the effects of an increase in govermment expenditure.
In this question [} stands for inflation, m stands for the rate
of growth of nominal money supply, Y stands for real output,
Y* for the full employment level of output and S stands for

the change in fiscal pokcy. 15
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With the help of the Fisher equation and a diagram,
explain how an increase in the rate of growth of

money supply affects the nominal rate of interest over

time. 5

Explain partial and complete crowding out effect
of expansionary fiscal policy, with the help of

diagrams. 10
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How is the real rate of exchange determined in a small open

economy with perfect capital mobility ? How will changes’ in

fiscal policy at home and abroad affect the real rate of

exchange ? 15
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Or
Explain how an expansionary Fiscal Policy at home and a restrictive

Trade Policy influence the real exchange rate and Net Exports

in a large open economy. 15
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